BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF PAVING AND APPURTENANCES TO SERVE OAKWOOD ESTATES SECTION 3 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, HARRIS COUNTY, TEXAS JANUARY 26, 2024

Page 1 of 5

JANUARY 26, 2024 LJA ENGINEERING, INC. S. YOUNG JANUARY 26, 2024 2990-0013 (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) DACO PAVING, INC.	\$710,000.00
2) BAY PAVING, LLC	\$767,742.25
3) HCG, LLC	\$779,582.20
4) BEYER CONSTRUCTION, LLC	\$839,856.50
5) ICON GC LLC	\$866,511.32
6) PRECISE SERVICES INC.	\$930,311.80

CALENDAR DAYS 45/60



I, KIRSTEN WILSON, P.E., hereby certify these bid tabulations to be true and correct

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING AND APPURTENANCES
TO SERVE OAKWOOD ESTATES SECTION 3
HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12
CITY OF WALLER, HARRIS COUNTY, TEXAS
JANUARY 26, 2024
LJA ENGINEERING, INC.
S. YOUNG

		200						
			1) DACO PAVI		2) BAY PAVI		3) HCG,	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
PAVING ITEMS								
1 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	9448	\$45.70	\$431,773.60	\$47.25	\$446,418.00	\$47.15	\$445,473.20
2 8" LIME/FLY ASH STABILIZED SUBGRADE, COMPLETE IN PLACE	SY	10021	\$3.60	\$36,075.60	\$3.40	\$34,071.40	\$5.00	\$50,105.00
3 HYDRATED LIME FOR 8" STABILIZED SUBGRADE PREPARATION (4% LIME BY WEIGHT, 20LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	133	\$325.00	\$43,225.00	\$350.00	\$46,550.00	\$385.00	\$51,205.00
4 FLY-ASH FOR 8" STABILIZED SUBGRADE (8% FLY-ASH BY WEIGHT, 36LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE	TON	265	\$138.00	\$36,570.00	\$135.00	\$35,775.00	\$140.00	\$37,100.00
5 2" TYPE "D" HOT MIX ASPHALT CONCRETE PAVING W/8" FLEXIBLE BASE 6 CONNECTION TO EXISTING KNEBEL ROAD, INCLUDES SAW CUT COMPLETE IN PLACE	SY LS	97 1	\$300.00 \$700.00	\$29,100.00 \$700.00	\$175.00 \$2,200.00	\$16,975.00 \$2,200.00	\$135.00 \$7,315.00	\$13,095.00 \$7,315.00
7 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3175	\$4.10	\$13,017.50	\$3.75	\$11,906.25	\$3.00	\$9,525.00
8 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	1926	\$4.10	\$7,896.60	\$3.75	\$7,222.50	\$3.65	\$7,029.90
9 ROADWAY EXCAVATION, COMPLETE IN PLACE	CY	2633	\$8.00	\$21,064.00	\$10.00	\$26,330.00	\$9.70	\$25,540.10
10 ROADWAY EMBANKMENT, COMPLETE IN PLACE	CY	18	\$4.00	\$72.00	\$30.00	\$540.00	\$12.50	\$225.00
11 CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	EA	1	\$350.00	\$350.00	\$500.00	\$500.00	\$1,940.00	\$1,940.00
12 REMOVE AND OFFSITE DISPOSAL OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1.70	\$1.70	\$50.00	\$50.00	\$75.00	\$75.00
13 COMPLETE LOT GRADING (LOTS, RESERVES, AND FINAL DRESSING OF ALL AREAS), INCLUDING STRIPPING AND PROOF ROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS, AND REPLACEMENT OF STRIPPINGS, INCLUDES USE OF STOCKPILE ALONG NORTHERN SITE BOUNDARY, COMPLETE IN PLACE	LS		\$13,900.00	\$13,900.00	\$30,000.00	\$30,000.00	\$15,000.00	\$15,000.00
14 FINAL GRADING OF RIGHT-OF-WAY, COMPLETE IN PLACE	LS	1	\$2,400.00	\$2,400.00	\$4,600.00	\$4,600.00	\$3,700.00	\$3,700.00
15 FINAL GRADING OF BOUNDARY SWALE, COMPLETE IN PLACE	LS	1	\$8,400.00	\$8,400.00	\$18,400.00	\$18,400.00	\$33,300.00	\$33,300.00
16 CURB BACKFILL AND LOT DRESS UP AFTER INSTALLATION OF STAGE II DRY UTILITIES, COMPLETE IN PLACE	LS	1	\$6,300.00	\$6,300.00	\$12,000.00	\$12,000.00	\$3,700.00	\$3,700.00
PAVING ITEMS SUBTOTAL:				\$650,846.00		\$693,538.15		\$704,328.20
MISCELLANEOUS ITEMS								
1 PERMANENT TRAFFIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STREET SIGNS, TRAFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$2,800.00	\$2,800.00	\$6,650.50	\$6,650.50	\$7,900.00	\$7,900.00
2 TEMPORARY TRAFFIC CONTROL DEVICES AS NEEDED FOR THE DURATION OF THE PROJECT, (FLAGGERS, CONES, ETC.), PER TMUTCD, INCLUDES INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE	LS	1	\$750.00	\$750.00	\$5,750.00	\$5,750.00	\$8,500.00	\$8,500.00
3 MAINTENANCE AND REMOVAL UPON COMPLETION OF STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00
4 CONCRETE TRUCK WASHOUT, INCLUDING INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE	EA	1	\$600.00	\$600.00	\$2,000.00	\$2,000.00	\$1,400.00	\$1,400.00

JANUARY 26, 2024

2990-0013 (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF PAVING AND APPURTENANCES
TO SERVE OAKWOOD ESTATES SECTION 3
HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12
CITY OF WALLER, HARRIS COUNTY, TEXAS
JANUARY 26, 2024
LJA ENGINEERING, INC.
S. YOUNG
JANUARY 26, 2024

LJA JOB NO.			2990-0013 (9.2)					
			1) DACO PAV	ING, INC.	2) BAY PAV	/ING, LLC	3) HCG,	LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
5 STORM WATER POLLUTION PREVENTION PLAN COMP INCLUDES GENERAL SOURCE CONTROLS, COMPLETE		1	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
6 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC I FOR FLUSHING VALVE LOCATION, COMPLETE IN PLACE		8	\$18.00	\$144.00	\$9.20	\$73.60	\$18.00	\$144.00
7 ADA RAMPS, PER ADA RAMP DETAILS TYPE 7, COMPL	ETE IN PLACE EA	6	\$1,500.00	\$9,000.00	\$1,600.00	\$9,600.00	\$1,800.00	\$10,800.00
8 EXTRA CEMENT STABILIZED SAND (2.0 SACKS PER TO USED ONLY AS DIRECTED BY THE ENGINEER), COMPL		10	\$40.00	\$400.00	\$35.00	\$350.00	\$38.00	\$380.00
9 EXTRA REINFORCED FILTER FABRIC FENCE (TO BE U ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN		100	\$2.30	\$230.00	\$2.30	\$230.00	\$3.00	\$300.00
10 EXTRA HYDROMULCH SEEDING, COMPLETE IN PLACE	AC	1	\$2,100.00	\$2,100.00	\$2,000.00	\$2,000.00	\$2,400.00	\$2,400.00
11 EXTRA BROADCAST SEEDING, COMPLETE IN PLACE	AC	1	\$1,100.00	\$1,100.00	\$840.00	\$840.00	\$1,200.00	\$1,200.00
12 EXTRA FLY-ASH FOR 8" STABILIZED SUBGRADE (8% F 36LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND AI GEOTECHNICAL ENGINEER), COMPLETE IN PLACE		10	\$138.00	\$1,380.00	\$135.00	\$1,350.00	\$175.00	\$1,750.00
13 EXTRA HYDRATED LIME FOR 8" STABILIZED SUBGRAD (4% LIME BY WEIGHT, 20LB/SY), (AS REQUIRED BY SO APPROVED BY GEOTECHNICAL ENGINEER), COMPLET	IL CONDITIONS AND	10	\$325.00	\$3,250.00	\$350.00	\$3,500.00	\$320.00	\$3,200.00
14 BROADCAST SEEDING AND FINE GRADING, INCLUDES WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS DIRECTED BY ENGINEER), COMPLETE IN PLACE		9	\$1,100.00	\$9,900.00	\$840.00	\$7,560.00	\$1,500.00	\$13,500.00
15 HYDROMULCH SEEDING AND FINE GRADING, INCLUDE 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECT COMPLETE IN PLACE		4	\$2,100.00	\$8,400.00	\$2,000.00	\$8,000.00	\$2,700.00	\$10,800.00
16 WOOD MATS AT LOCATIONS WHERE THE CONTRACT PIPELINES, AS REQUIRED BY EACH PIPELINE'S REPRE IN PLACE		1	\$4,500.00	\$4,500.00	\$7,000.00	\$7,000.00	\$2,400.00	\$2,400.00
17 2" SCH 40 PVC IRRIGATION SLEEVES, COMPLETE IN P	LACE LF	100	\$55.00	\$5,500.00	\$25.00	\$2,500.00	\$18.00	\$1,800.00
18 18'X8'X8" REINFORCED CONCRETE MAILBOX PAD, CO	MPLETE IN PLACE EA	1	\$2,300.00	\$2,300.00	\$2,000.00	\$2,000.00	\$1,150.00	\$1,150.00
19 15'X8'X8" REINFORCED CONCRETE MAILBOX PAD, CO	MPLETE IN PLACE EA	1	\$2,100.00	\$2,100.00	\$1,800.00	\$1,800.00	\$930.00	\$930.00
20 THERMOPLASTIC CROSSWALK STRIPING FOR ALL CR PER CITY OF WALLER, COMPLETE IN PLACE	ROSSWALKS, LS	1	\$1,200.00	\$1,200.00	\$10,000.00	\$10,000.00	\$4,200.00	\$4,200.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$59,154.00		\$74,204.10		\$75,254.00
BIDDING SUMMARY								
SUBTOTAL PAVING ITEMS	The state of the s			\$650,846.00		\$693,538.15		\$704,328.20
SUBTOTAL MISCELLANEOUS ITEMS				\$59,154.00		\$74,204.10		\$75,254.00
TOTAL AMOUNT BASE BID				\$710,000.00		\$767,742.25		\$779,582.20

2990-0013 (9.2)

 Page 3 of 5
 FRN F-1386

 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION EXIT, COMPLETE IN PLACE

4 CONCRETE TRUCK WASHOUT, INCLUDING INSTALLATION, MAINTENANCE, AND REMOVAL, COMPLETE IN PLACE

CONSTRUCTION OF PAVING AND APPURTENANCES TO SERVE OAKWOOD ESTATES SECTION 3 HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, HARRIS COUNTY, TEXAS JANUARY 26, 2024 LJA ENGINEERING, INC. S. YOUNG JANUARY 26, 2024

TABULATION DATE: LJA JOB NO.				UARY 26, 2024 0-0013 (9.2)					
		4) BEYER CONSTRUCTION, LLC 5) ICON GC LLC				6) PRECISE SERVICES INC.			
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
PAVING ITEMS									
1 6" REINFORCED CO	NCRETE PAVEMENT, COMPLETE IN PLACE	SY	9448	\$54.75	\$517,278.00	\$50.00	\$472,400.00	\$53.25	\$503,106.00
2 8" LIME/FLY ASH ST	ABILIZED SUBGRADE, COMPLETE IN PLACE	SY	10021	\$3.75	\$37,578.75	\$11.00	\$110,231.00	\$6.30	\$63,132.30
WEIGHT, 20LB/SY), (R 8" STABILIZED SUBGRADE PREPARATION (4% LIME BY (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GINEER), COMPLETE IN PLACE	TON	133	\$362.00	\$48,146.00	\$350.00	\$46,550.00	\$315.00	\$41,895.00
	ABILIZED SUBGRADE (8% FLY-ASH BY WEIGHT, 36LB/SY), (AS CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), E	TON	265	\$136.00	\$36,040.00	\$165.00	\$43,725.00	\$135.00	\$35,775.00
	K ASPHALT CONCRETE PAVING W/8" FLEXIBLE BASE XISTING KNEBEL ROAD, INCLUDES SAW CUT E	SY LS	97 1	\$207.00 \$2,800.00	\$20,079.00 \$2,800.00	\$165.00 \$700.00	\$16,005.00 \$700.00	\$155.00 \$2,600.00	\$15,035.00 \$2,600.00
7 4" X 12" REINFORCE	ED CONCRETE CURB, COMPLETE IN PLACE	LF	3175	\$5.25	\$16,668.75	\$4.00	\$12,700.00	\$4.50	\$14,287.50
8 6" REINFORCED CO	NCRETE CURB, COMPLETE IN PLACE	LF	1926	\$5.25	\$10,111.50	\$4.00	\$7,704.00	\$4.50	\$8,667.00
9 ROADWAY EXCAVA	TION, COMPLETE IN PLACE	CY	2633	\$8.50	\$22,380.50	\$15.00	\$39,495.00	\$8.00	\$21,064.00
10 ROADWAY EMBANK	MENT, COMPLETE IN PLACE	CY	18	\$7.00	\$126.00	\$20.00	\$360.00	\$55.00	\$990.00
	ED 6" REINFORCED CONCRETE PAVEMENT ORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	EA	1	\$1,250.00	\$1,250.00	\$400.00	\$400.00	\$1,100.00	\$1,100.00
	ITE DISPOSAL OF EXISTING E, COMPLETE IN PLACE	EA	1	\$50.00	\$50.00	\$10.00	\$10.00	\$100.00	\$100.00
AREAS), INCLUDING AND COMPACTION (ADING (LOTS, RESERVES, AND FINAL DRESSING OF ALL S STRIPPING AND PROOF ROLLING, HAULING, PLACEMENT OF MATERIALS, AND REPLACEMENT OF STRIPPINGS, STOCKPILE ALONG NORTHERN SITE BOUNDARY, COMPLETE	LS	1	\$48,750.00	\$48,750.00	\$50,000.00	\$50,000.00	\$14,000.00	\$14,000.00
14 FINAL GRADING OF	RIGHT-OF-WAY, COMPLETE IN PLACE	LS	1	\$3,200.00	\$3,200.00	\$10,000.00	\$10,000.00	\$21,500.00	\$21,500.00
15 FINAL GRADING OF	BOUNDARY SWALE, COMPLETE IN PLACE	LS	1	\$12,000.00	\$12,000.00	\$6,500.00	\$6,500.00	\$13,000.00	\$13,000.00
	D LOT DRESS UP AFTER INSTALLATION FILITIES, COMPLETE IN PLACE	LS	1	\$4,400.00	\$4,400.00	\$7,000.00	\$7,000.00	\$10,500.00	\$10,500.00
PAVING ITEMS SUBTOTAL	<u>.</u>				\$780,858.50		\$823,780.00		\$766,751.80
MISCELLANEOUS ITEMS									
PAVEMENT STRIPIN	FIC CONTROL DEVICES, INCLUDES ALL TRAFFIC BUTTONS, IG, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, AFFIC SIGNS, ETC., COMPLETE IN PLACE	LS	1	\$6,800.00	\$6,800.00	\$7,800.00	\$7,800.00	\$12,000.00	\$12,000.00
THE PROJECT, (FLA	FIC CONTROL DEVICES AS NEEDED FOR THE DURATION OF IGGERS, CONES, ETC.), PER TMUTCD, INCLUDES INTENANCE, AND REMOVAL, COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$5,900.00	\$5,900.00	\$4,750.00	\$4,750.00
	REMOVAL UPON COMPLETION OF STABILIZED	EA	1	\$2,500.00	\$2,500.00	\$1.00	\$1.00	\$2,000.00	\$2,000.00

\$2,000.00

\$2,000.00

EΑ

\$100.00

\$100.00

\$1,850.00

\$1,850.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF PAVING AND APPURTENANCES
TO SERVE OAKWOOD ESTATES SECTION 3
HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12
CITY OF WALLER, HARRIS COUNTY, TEXAS
JANUARY 26, 2024
LJA ENGINEERING, INC.
S. YOUNG
JANUARY 26, 2024
2990-0013 (9.2)

			4) BEYER CONSTI	RUCTION, LLC	5) ICON (SC LLC	6) PRECISE SE	RVICES INC.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
5 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS, COMPLETE IN PLACE	LS	1	\$7,500.00	\$7,500.00	\$1,500.00	\$1,500.00	\$2,250.00	\$2,250.00
6 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FLUSHING VALVE LOCATION, COMPLETE IN PLACE	EA	8	\$8.50	\$68.00	\$10.00	\$80.00	\$20.00	\$160.00
7 ADA RAMPS, PER ADA RAMP DETAILS TYPE 7, COMPLETE IN PLACE	E EA	6	\$1,750.00	\$10,500.00	\$1,350.00	\$8,100.00	\$1,850.00	\$11,100.00
8 EXTRA CEMENT STABILIZED SAND (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$40.00	\$400.00	\$0.01	\$0.10	\$50.00	\$500.00
9 EXTRA REINFORCED FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.50	\$150.00	\$3.50	\$350.00	\$2.50	\$250.00
10 EXTRA HYDROMULCH SEEDING, COMPLETE IN PLACE	AC	1	\$1,500.00	\$1,500.00	\$0.01	\$0.01	\$2,500.00	\$2,500.00
11 EXTRA BROADCAST SEEDING, COMPLETE IN PLACE	AC	1	\$500.00	\$500.00	\$0.01	\$0.01	\$1,400.00	\$1,400.00
12 EXTRA FLY-ASH FOR 8" STABILIZED SUBGRADE (8% FLY-ASH BY W 36LB/SY), (AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE		10	\$136.00	\$1,360.00	\$0.01	\$0.10	\$135.00	\$1,350.00
13 EXTRA HYDRATED LIME FOR 8" STABILIZED SUBGRADE PREPARAT (4% LIME BY WEIGHT, 20LB/SY), (AS REQUIRED BY SOIL CONDITION APPROVED BY GEOTECHNICAL ENGINEER), COMPLETE IN PLACE		10	\$362.00	\$3,620.00	\$0.01	\$0.10	\$305.00	\$3,050.00
14 BROADCAST SEEDING AND FINE GRADING, INCLUDES FERTILIZING WATERING, TO ACHIEVE 90% HOMOGENEOUS GRASS COVERAGE DIRECTED BY ENGINEER), COMPLETE IN PLACE		9	\$500.00	\$4,500.00	\$100.00	\$900.00	\$7,350.00	\$66,150.00
15 HYDROMULCH SEEDING AND FINE GRADING, INCLUDES WATERING 90% HOMOGENEOUS GRASS COVERAGE, (AS DIRECTED BY ENGIN COMPLETE IN PLACE		4	\$1,500.00	\$6,000.00	\$2,450.00	\$9,800.00	\$8,450.00	\$33,800.00
16 WOOD MATS AT LOCATIONS WHERE THE CONTRACTOR CROSSES PIPELINES, AS REQUIRED BY EACH PIPELINE'S REPRESENTATIVES IN PLACE		1	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$8,500.00	\$8,500.00
17 2" SCH 40 PVC IRRIGATION SLEEVES, COMPLETE IN PLACE	LF	100	\$25.00	\$2,500.00	\$15.00	\$1,500.00	\$23.50	\$2,350.00
18 18'X8'X8" REINFORCED CONCRETE MAILBOX PAD, COMPLETE IN PI	LACE EA	1	\$1,950.00	\$1,950.00	\$2,000.00	\$2,000.00	\$3,250.00	\$3,250.00
19 15'X8'X8" REINFORCED CONCRETE MAILBOX PAD, COMPLETE IN PI	LACE EA	1	\$1,650.00	\$1,650.00	\$1,850.00	\$1,850.00	\$2,750.00	\$2,750.00
20 THERMOPLASTIC CROSSWALK STRIPING FOR ALL CROSSWALKS, PER CITY OF WALLER, COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$850.00	\$850.00	\$3,600.00	\$3,600.00
MISCELLANEOUS ITEMS SUBTOTAL:				\$58,998.00		\$42,731.32		\$163,560.00
BIDDING SUMMARY								
SUBTOTAL PAVING ITEMS	•			\$780,858.50		\$823,780.00		\$766,751.80
SUBTOTAL MISCELLANEOUS ITEMS				\$58,998.00		\$42,731.32		\$163,560.00
TOTAL AMOUNT BASE BID				\$839,856.50		\$866,511.32		\$930,311.80

 Page 5 of 5
 FRN F-1386

 LJA Engineering, Inc.